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Question Number : 1 Question Id : 3354727231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who founded the Holkar dynasty? | §ledt (aad & @i Tohe- 7

Options :

1. ¥ vashwant Rac Holkar [ | J9&d U1 i@t
2. ¥ Malhar Rao Holkar | AFgR U1d §led

3. % Ahilya Bai Holkar | 3TigedT aT8 §le®t

4. ¥ Shivaji Rao Holkar | Tami T1d glewe

Question Number : 2 Question Id : 3354727232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The Indore gharana, well-known for singing khvals, was founded by: | T T & @0 Red w2 oi &1
AT Tt ot &ff?

Options :

1. ¥ Ram Sahai | T 95

2. ¥ Amir Khan | $THR @9

3. ¥ Alladiya Khan | sieaTiear @9
4 % Miyan Bakshu | Ti=T sy

Question Number : 3 Question Id : 3354727233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
'The Discovery of India' was written by: | “IRT & @

Options :

1. ¥ R.C Majumdar | 3 &1 AugR
2. ¥ Jawaharlal Nehru | JaTEead J5€
3. ¥ MK. Gandhi [ T @ TTeft

4 % Sarojini Naidu | SHET A10E

Question Number : 4 Question Id : 3354727234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Who amonéjthe following was the first Chief Election Cormmissioner of India? | gfeiEs & & @19 yra & v g&g
AT ST &

Options :

1. ® K. ¥ K. Sundaram | .97 g0

2. ¢ Sukumar Sen | PAR €

3. % M. Patanjali Sastri | UA. qa=tier aeit

4 % 5P Sen Verma | U9 & THT

Question Number : 5 Question Id : 3354727235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

National Voter's Day is celebrated on ______________ of every year. | T Oaard fead nadwm g ________ I AT
ST &)

Options :

1. ¢ 25th January | 25 Ser
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2. ¥ 13th January [ 13 Saer
3. ¥ 12th January | 12 S9aer
4. ¥ 7th January | 7 et

Question Number : 6 Question Id : 3354727236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which media group worn the S-year media rights for IPL in 20177 | &9 digar gz 4 2017 # smviue & @0 S 95
&T SArar?

Options :

1. % ESPN | guddigs

2. ¥ Colors | #od

3. ¥ Star India | R $ieaT
4 % Ten Sports | ¢ qUIgH

Question Number : 7 Question Id : 3354727237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who won the National Snooker Charmpionship - 20167 | TE I S&T AH=ET - 2016 @ e Sfar?

Options :

1. ¥ Siddharth Parikh | Toegmf owrg
2. #¥ Manan Chandra | A9 =g

3. ¥ Mahesh Yadav | ARY 92d

4. ¢ Aditya Mehta | aiecd AgaT

Question Number : 8 Question Id : 3354727238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What was Kargil war otherwise knowrl as? | R I ®1 & [d €7 7 ST 712717

Options :

1. ¢ Operation Vijay | sTqeae o=

2. ¥ Operation Vishwas | SToea ke
3. ¥ Operation Shaurya | SToes st

4. ¥ Operation Paramveer | TS THAT

Question Number : 9 Question Id : 3354727239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Which of the following is NOT a landlocked state of India? | 90 & 19 7 WRT & U U Q0T T 51 57

Options :
1. ¥ Chhattisgarh | sdteamg

2. #® Tharkhand | IIREs

3. ¥ Haryana | giegmm
4. ¥ Odisha | 2T

Question Number : 10 Question Id : 3354727240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Ei%?mose book titled ‘I do what I do’ was recently released? | e ‘g g T o 2 &1 e frdTe 5101 & & ST 1 T2

Options :

1. ¥ D. Subba Rao | geakl GeaRTal

2. ¥ P Chidambaram | Ut =Eerd

3. ¥ Raghuram Rajan | TG T
4. ® YV Reddy | @ et @1

Question Number : 11 Question Id : 3354727241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Chitrakoot is a popular name from the epic period of Ramavyana. Chitrakoot is located in which district of

Madhya Pradesh? | ferage TR &1 AT Siatel & U Alm 0 9 8] oage 7ed 0T & foa et § 9 87
Options :

1. ¥ Satna | 9T

2. ¥ Panna | ugT

3. ¥ Rewa | T

4. % sidhi | #eft

Question Number : 12 Question Id : 3354727242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Where is the Patiyandai ternple and Gola Math located? | UfRIgms ATe 31T AT 7E ®ET T 27
Options :

1. ¥ Satna | @a1

2 % Rewa | Oar

3. ® Panna | UAT

4. ® Rajgarh | "G

Question Number : 13 Question Id : 3354727243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The private m%seum of Dr. Raghubir Sinh in Mandsaur is called _____ .| HEER | 2T TR g @ eI JugTee @t
_____ FET AT

Options :
1. ¢ Shree Natnagar Shodh Sarmsthan | #ff =R aiter e

2. ® vachan Institute | Z=49 9eIH
# Chirangi Institute | TRt G
# Jagatpur Institute | STTYL GEIH

w

-

Question Number : 14 Question Id : 3354727244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Chauragarh’s famous Shiva temple? | TRNTE &1 UG 190 AT T8 57

Options :
1. ® Suhagpur | g
2. % Madhai | HeTS

3. ¥ Babai | @
4. ¥ Pachmearhi | /W
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Question Number : 15 Question Id : 3354727245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the well-known Siddeshwar temple in Dewas located? | a8 H Nitg, [eearok Al gl [e9d 57

Options :

#® Madhai [ AuTE

. ¥ Nemawar | JATex
#® Kannod | #g9iE
® Ashta | ameT

-

ASERT

Question Number : 16 Question Id : 3354727246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following was referred to as the 'Paris of Nimar' before independence? | dad=a1 € Ugel WoAfeaa &
o foper "o o Ufee & w0 # IieaiEa o e ar?

Options :

1. ¢ Barwani | @=amT

2. % Khargone | @0
3. ® Alirajpur | ST

4 % Thabua | FgaT

Question Number : 17 Question Id : 3354727247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The largest state by population in India is____. | S&Ta! & BE & YRT &7 G4 92T 59

Options :
1. ¢ Uttar Pradesh | 30 0gs

2 % Madhya Pradesh | A2 wear
. ¥ Maharashtra | TgRTE
¥ Rajasthan | ToR™

L

e

Question Number : 18 Question Id : 3354727248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which High Court recognized Ganga and Yarmuna rivers as living entities? | T 3g =amamera = 10T 87T a1 Afeat
I ST TEet & 0§ ATaT 47

Options :

1. ¥ allahabad High Court | SATETEE 35 T4

2. ¥ Uttarakhand High Court | J9UEs 3 A4
3. ® Madhya Pradesh High Court | A2 0SS 35 ~IT6d
4. ¥ Jharkhand High Court | SIRES 3g ~AH&T

Question Number : 19 Question Id : 3354727249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who is known as India’s Missile Man? | AT & HAEA A9 & &0 § ToFd T4 AT A7 57
Options :

1. #® Chandra Bose | @g @19



[

¥ 4P Abdul Kalam | G 3 sge1 de
# N Raghavan | U4 TrgaH
# Jayant Narlikar | ST9d AT e

L

e
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Question Number : 20 Question Id : 3354727250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The government of India has announced the plan to privatize which government airline? | YRT TR = T

Options :

1. ® Ajr Asia | Ua€ Uidmr

. ® Maharaja Airlines | W TACATE-T
3. ¥ Air India | TR §Ra

® Vistara | faeawr

[

A

s

General Maths and General Aptitude

Section Id : 335472224

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472224
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0

Annie went to the market to buy 5 kg onions with just enough money for that. The price that day had

increased“tzg 25%. What percentage less of onions can she buy? | S TerIT T

W AT
Options :

1. ¢ 20%
#® ooy

i

M

w

® 40%

e

GoIE & Ty a1 &1 eeRriar

o 39 T vart ot AT H 25% i gy g3l ag fed- Widd FH T @S dwdl 57

Question Number : 22 Question Id : 3354727252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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& trouser and a shirt were originally sold for Rs. 400 and Rs. 300, respectively. During a sale, Amit bought the
trouser at a 40% discount and the shirt at a 55% discount. What percent of the total of the original prices did

Amit save? | T&F I e U 1 & § FHT 400 20 8% 300 0 § il TRIT 9M U 96l & G, SATHd o Tded @1
40% T T 3 FH FT S5% 1 ge W G ST S Gl aredicr Geal i T Ui s H17

Options :
1. ¥ 48%

2 ® 45%

462 9
r

w

4 ® 42%

Question Number : 23 Question Id : 3354727253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

x°+2x =7

x+2
Options :
1. %1
2. %0
3. ¥ x

4 8 342

Question Number : 24 Question Id : 3354727254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If84=4nthennis ./3afg 8*=4r,dr n gl

Options :

2 % C

L
(a3}

o
00

Question Number : 25 Question Id : 3354727255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In the trapezium ABCD, AB = CD. If the height is 3 units, then the perimeter is . GHeH

ABCD#, AB=CD| 3fg 3915 3 5&B ¢, d9 IRAT 2l
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Options :
1. ¥ 30
® 30

M

L

¥ 34
® 38

-

Question Number : 26 Question Id : 3354727256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the area of a square if its diagonal is 42 cm? / Ueh 3T T &TAThel FAT BN TG SHHT
A&t 442 o g

Options :

1. ® 32s5q cm | 32 201 gAY
¥ 16sqom | 16 o |t

- % 169sq cm | 169 W A
® 525qcm | 52 e dHt

MJ

Question Number : 27 Question Id : 3354727257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

’ ~ s 2
I x=2, 1 =4, then whatis| X7 | 2/ afesm 2N = 4, a’rL“ﬂ, T gHT?

X L X S X x J

-

Options :
1. v 38

® 41
® o
® 20

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

L ra

-

Question Number : 28 Question Id : 3354727258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the average. | 3f&q o

42, 80, 19, 50, 29
Options :
1. ¥ 34
¥ 44
. % 54
4 % g4

[

(A}

Question Number : 29 Question Id : 3354727259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

If 3x7 - 27x7+ 5x% — 45x + 7 is divided by x+3, then the remainder is ¥

ATE 3x7 - 275+ 5x3 —45x + 7 I x+3 Wi far Smar 8, o 99%e_ giar 21
Options :
1. %0
7
® 11

o

3

e

Question Number : 30 Question Id : 3354727260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If & B, C, and D are 4 numbers with the average of the first three numbers as 16 and the average of the last 3
nurmpers as 15. If the last nurmber is 18, then the first number is___. | 9ig 4, B, C, D Udl 4 T § =9 & ww
1 Tezert @ e 16 3w sifdA 3 gwert @7 oifad 15 21 afe s g 18 2, 91 Wem g aT ____ 7l

Options :
1. ¥ 27
2 % 19
3.¥21

4 ® 20

Question Number : 31 Question Id : 3354727261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an exarmination, a student scores 178 marks but fails by 32 marks. If the pass percentage is 35%, then the
total marks in the examination is______ .| U UEIyT H, U BT T 178 87 WIH FU X dg 32 Sit  Sigiivl g1 A
il uidsd 35% §, a7 wiiym H Fol S

Options :
1. ¥ 500
2. ¥ 800

3. ¥ g50

4 ¥ 700

Question Number : 32 Question Id : 3354727262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If 7th Novernber 2017 is a Tuesday, then on which day does New year fall in 20227 | @i 7 9da¥ 2017 U%
TAaR 2, 91 2022 # 7 o T fa w2

Options :

1. ¥ Wednesday | guar
® Thursday | Tea®

- ® Friday | @R

4. ¢ saturday | qFER

r

L

Question Number : 33 Question Id : 3354727263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0



12th Dec17 Shift 2

If the nurmber of seats in a cinerna hall is increased by 25% and the cost of a ticket is also increased by 10%,
then the overall percentage increase in the revenue is: | U@ W&=AT 9¢ H diel & G=aT # 25% & The &1 AT % g e
T AT # o 10% @1 g BT A 5, TV SATHGAT H Fed Wi Fheg BT

Options :
L ™ 155

¥ 275
¥ 375
® 405

M

L

-

Question Number : 34 Question Id : 3354727264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
1 vear ago, the respective ratio ages of A and E was 3:4. After 1 vear, it will be 5:6. What is the present age of

B? | 0% oY Ugd, A R B & Hellod A1 SUd 3:4 2 1 a9 o1g, g 5:6 5T E &1 9 019 g 47 87
Options :
1. ® Zyears | 3¢

® 4years | 4o
. % Gyears | 6T
¥ S years | Sad

[

(WA

e

Question Number : 35 Question Id : 3354727265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The marks obtained by 10 students are given below. Find their mean. | 10 et gy o i S fgg mo #
IAHT AT AT
35, 67, 30, 52, 57, 49, 66, 76, 22, 36

Options :
1. ¥ 46
¥ 49
® 5o
#® 105

[

w

-

Question Number : 36 Question Id : 3354727266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The value of 729'%is ./ 729'% & HIA ol
Options :

1. % 7

o R =
o

AW

® &
=
—

Question Number : 37 Question Id : 3354727267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the 8th term of the sequence. | SFFH FT 89T Ug 10 #4
1,24, 7, 11,......

Options :
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¥
]
[§¥]

P

W

% § =
rJ
2!

rJ

—
o

Ca

Question Number : 38 Question Id : 3354727268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
If 9997 - % = 6457 - 2354, then x="7 | ?TE'QQB? - % = 6457 - 2354 qrx="

Options :

1. ®* 54394

#® 5874

. ¥ 5894

# INone of the above | Iu® # & & 751

M

w

g

Question Number : 39 Question Id : 3354727269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A train is moving with a speed of 180km/hr. Its speed in m/sec is: | UF ¢4 180 TopdT| €T &1 (0™ & AT 51 THE!
Tid Ot FE H g

Options :

1. ¥ Smjsec | 5 Ofd%E

® 30 m/sec | 30 U/ dFE
® 40 mjsec | 40 Ot} dHE
4 ¥ 50 mjsec | S0 g

M

L

Question Number : 40 Question Id : 3354727270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the simple interest for & vears is equal to 20% of the principal, then it will be equal to the principal after
| afE & e o Tl |TEMROT S Hereld o 30% o aXle) &, a1 ____ o dlg a5 Gere & ey g,

Options :

1. ® 10vyears | 10 a9

2. ¥ 20 years | 20 79

3. ® 20vyears | 22 ay
ad

4. % 30 vyears | 30

General Hindi

Section Id : 335472225
Section Number : 3

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Section Marks: 20
Display Number Panel: Yes

Group All Questions: No
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Sub-Section Id: 335472225
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AR IR LT
Options :

M

[N}

e

Question Number : 42 Question Id : 3354727272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
o 20T} 2 IR H T FaT ATAAT § T ST aTE] T T B
Options :

Question Number : 43 Question Id : 3354727273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

TH ® W19 AT Seg o " ATAT ATAT 5 7
Options :

1. v oF

% R

2

L

e

Question Number : 44 Question Id : 3354727274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TP Seg HT adAT dRI 5 7
Options :

1 . ® Jrde

]

)

L EE= T

4 ® F=ad

Question Number : 45 Question Id : 3354727275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Tt ot e e FAA A I e W ____________ GIDECTCR
Options :
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2 w \:21'231;]

I

L

Question Number : 46 Question Id : 3354727276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

R E I CICIRE R I EAC ]

Options :
w -:I “ ;-.-

=t

® T

M

&

Question Number : 47 Question Id : 3354727277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A FH AT R F o U deg FE H A I ATE?

Options :
1. ¢ s

Question Number : 48 Question Id : 3354727278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

"gUIeHT W ET T g H i Erg?
Options :

1. % g3

. G aITeAT

L

v

® T SITeAT

Question Number : 49 Question Id : 3354727279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
el @ AW geg g H # @i |1 a7

Options :

v

Question Number : 50 Question Id : 3354727280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Hid" 0T 9 o7 e g H F B 57

Options :
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[\J!—L

S\

-

Question Number : 51 Question Id : 3354727281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
TN-EC Seg H g € 919 97 99 87

Options :
1. ¥ &g 9H
® i 9uTg

Question Number : 52 Question Id : 3354727282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

TSI UM GeTaY @ o PR A A @ A g?
Options :

® @W AT

4, ® gyl g IeAr

M

L

g

[

w

Question Number : 53 Question Id : 3354727283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘e W g T g H AW AT E?
Options :

1. v 4 ?-_,cﬁ

4 % of

Rl

Question Number : 54 Question Id : 3354727284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T T T ST AT 50 & &1 a7 57

Options :
2. %

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

L

Question Number : 55 Question Id : 3354727285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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T T BT S I &
A A S B S B o7

Options :
1. ¢ U SiFER

2 R QI SEw

3. ¥ JumT AAE

Question Number : 56 Question Id : 3354727286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Te my sreg @7 fawiy fog o 8 & o - e

Options :

1. % @fver e 3 gew fHdw ufvad @ f=zm

- e & wamd T HTEET @ I IEH B BTG
% it Bt e # £ g s gt et ofh
® gur # got GFAT e @ am

W

-

Question Number : 57 Question Id : 3354727287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WecUgATd 56 U Jeg, & 1ol JTed s Jeg -

Options :

Ll

AW

Question Number : 58 Question Id : 3354727288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T g AT & I T W g A § -
Options :

2. ® e

4. ¢ g Al

Question Number : 59 Question Id : 3354727289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=T T g e 7 -
Options :

3. ¢ giaar

4 R g
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Question Number : 60 Question Id : 3354727290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TATHTAT T FHE- T aqTEy

Options :

1% Fordim

2. ¢ T g Femr

3. ¥ T d Fwear

4 ® Toags

Rural ECOI]OI'H*;,F and PELHChElYElti REl_j

Section Id : 335472226
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472226
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many agro-clirmatic zones are there in Madhya Pradesh? | 7ed ey # frq giv—siwaryg 89 27
Options :

1. ¥ 5

2 %3

3. % 4

4 ¥ 11

Question Number : 62 Question Id : 3354727292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
'Barik Sakhi'is normallg.r d

Options :
1. ¢ SHG member who acts as a Bank Agent | TOU=1 G986 Al s Tie & &0 § &4 #eaT g

2. ®¥ Panchayat Accountant | U=lTad &G

w

# Upsarpanch | Sz

MY

. ¥ Woman Gram Panchayat Member | HigT UTH =T 956d

Question Number : 63 Question Id : 3354727293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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| e Termre WUl 2016 &% Srgdr, 9Rd &1

Optlons:
1. % 126th | 129aT

2. % 130th j 13041
3. ¢ 131st [ 131a
4 ® 132nd [ 13290

Question Number : 64 Question Id : 3354727294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is one of the primary objectives of MNREGA? | FafaiEd # & #19 7= & wrrie s # 9
U 87

Options :

1. ¢ Addressing chronic poverty by prumr;‘iré'%% guaranteed wage employment to unskilled labourers | S

FAGL! Bl MRS T HAge! LT HE T mwgﬂ?ﬁ FEAT

2 ® EBuilding darms | o aTel
3. ¥ Cleaning public places | G- €1 & THTE
4. ® Employment to skilled engineers | F<Id S -2)l @1 U=

Question Number : 65 Question Id : 3354727295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Sani%%tion function comes under the purview of which of the following? | Fae=gaT #14 Mgiead # & forad sfaria
ST &

Options :

1. ® State Government | 7= TL@R
2. ¥ Gram Panchayat | TTH T=Tad

3. ¥ Zilla Panchayat | F@T vamad

4. ¥ Janpad Panchayat | S90S T=TaT

Question Number : 66 Question Id : 3354727296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT considered as a farm mechanization device? | FFRiciaT # & o B0 daTgaae
TEaTed (FT Hfi= e JUeem) 51 =T a7 57

Options :

1. ¢ Bullock | &

2. ¥ Electric Pump | Solide® o0
3. ¥ Tractor | 27
4. % Sprinkler systern | &I @139

Question Number : 67 Question Id : 3354727297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the brand name of products marketed by Madhva Pradesh Minor Forest Produce Federation? | 72 naa
HIS-T BRES WISTd hataH (Hed el &y a9 Jodig |) G Ui & Jcural & i &7 10 7 57

Options :

1. ¥ Narmada Ayurvedics | FHaT g igHd
2. ¥ Champa Herbals | =T gdeq
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3. ¥ Vindhva Herbals | e gdeq
4 % Aranya Ayurvedics | ST A iCEd

Question Number : 68 Question Id : 3354727298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Sampoorna Gramin Rozgar Yojana was launched in which year? | @rqof T TSATR AT 37 R fore o 7
T 4717

Options :

1. ¥ 2001
® 2005
. ® 2009
® 2013

W

o

Question Number : 69 Question Id : 3354727299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NMAET stands for __________ | UAUHTSET T % T U BT e I

Options :

1. ¥ New Methods of Agriculture and Technology | ~ HUISH 3iTH Tiitee U @A

2. % National Moverment for Agriculture and Textiles | J9Hd GaHe B THiErat U THFaeZed

3. ® New Materials for Agricultural Development | ~g BeR<ed B Qlildea SaeuHe

4. ¥ National Mission on Agricultural Extension and Technology | SaHa TWae a9 Wiitdeat Uaad s Ug Shiant

Question Number : 70 Question Id : 3354727300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Aarmn Aadrr Bima Yojana provides social security to
T Fa 1 2l
Options :

1. ¥ Technicians in rural areas | THIT 31 § TEATaaT

2. ¥ 48 identified vocational | occupational groups | rural landless households. | 48 Ug= dTd eTedTaw |
UsleR |6z | TTHIT iEg H uiamr

3. ¥ Engineers in urban areas | fger 831 H geiii=od
4. ® labourers in both rural as well as urban areas | TTHI FAT AET ST ST H 5 el SATHS! @1

Question Number : 71 Question Id : 3354727301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Rajiv Gandhi Grameen Vidyutikaran Yojana has been replaced by _______ I CRIE IR LA R ETUR SR
______ o WideemitT @ fe=m T am

Options :

1. ®¥ Pradhan Mantri Ujjwala Yojana | Wel-AST S=aaT DT
2. % Sansad Adarsh Gram Yojana | @g e I -1

3. ¥ Bharat Nirman | 9Rd =T

4. ¥ Deendayal Upadhyay Gram Jyoti Yojana | SHedTe JUTedTd UTH w411d AT

Question Number : 72 Question Id : 3354727302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Wwhich article of the Constitution directs the state governments to organize Village Panchayats? | GIERIEEa kL

AT AJede (g GXR &1 UTH U 1 e C0d e @7 Hoq gdl
Options :

1. ® Article 32 | aIfesg 32

2. ® Article 50 | aredg S0

3. ¥ Article 48 | ajedg 48

4 ¥ Article 40 | agedg 40

Question Number : 73 Question Id : 3354727303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Whern was National Cornrrnission for Wormen established? | 819 gl ST T Ta el oIl 417

Options :
.V 1992

® 1995
® 1999
® 2010

(=

BN

Question Number : 74 Question Id : 3354727304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which of the following is NOT considered as a Non-Farm sector activity? | Fafeied # & g - g nidfard &
&0 H 51 AT AET 57

Options :

1. ® Handloom | 32ad

2. % Repair workshop | ZaTd &l ACFAT

3. ¥ Dairying | 20 J=0mT

4. ¥ Small road transport | FieT 95& UiKag

Question Number : 75 Question Id : 3354727305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the objective of ‘Mukhya Mantri Khet Teerth Yojana’ of Madhya Pradesh 7 | Be UG &l ‘Qeam=l @q o ef
AT FT TR FAT 57

Options :

1. ® Sending farmers on pilgrimage | et @t Ief Gm=T w ST

2. ¥ Sending farmers & farnily on tour to south India | ToFramT 3T 39 qiERT @1 ST 9 & AET 0T H==1

3. ¥ Sending farmers on tour to advanced agriculture centres experts | Tt & smeie Y dgf ot | vt &
T {1

4. % Sending farmers on holiday trip | TFa=T @ SIE@TST TET 0T AT

Question Number : 76 Question Id : 3354727306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
According to an ICAR study report in 2015, the post harvest loss of fruits and vegetables {cumulative wastage)

is estimated tobe _______. | 2015 H U AMS QTR e Wale & qatise Bal A Gieadl (Gerdl e &1 BHd g &
IS BHA BTEET _______ g1+ T SIAM 31
Options :

1. ¥ Less than 4% | 4% § &7
2 ¢ 458 - 15 88%
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3. ® 40.77 - 45.65%
4 % 5043 -5522%

Question Number : 77 Question Id : 3354727307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
qﬂmzfl;% o%f7 the following is NOT a function of Gram Panchayat Secretary? | FaiaiEs # & &7 T v=g G &7

Options :
1. ¥ Upkeep of records and registers | W18 37T Toeet! @1 ACFAT
2. ¥ Presiding over all meetings of Grarm Sabha | TTH G497 & Tl da®! &l ST dear

3. ® Initiate steps to implement the resolutions of Gram Sabha | WTH T & WEaTd! @1 aTivad @i & 100 SATaedd
HEH IETT

4. ¥ preparing the minutes of the meetings of Gram Sabha | TTH THT & daew! & F12 [ a2 HeT

Question Number : 78 Question Id : 3354727308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Narmme the programme of financial inclusion of villages with more than 2000 population: | 2000 ¥ afaw® sTeTdr
FIERIEIED AT & BTHHH & AT Fd157

Options :

1. ¥ Swavalamban | Tdded
2. ¢ Swabhiman | TEHET
3. ¥ Swagat | T

4. ® Samavesh | GATIT

Question Number : 79 Question Id : 3354727309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the prime function of ATMA? | TSITHT &1 J&I &4 F47 87

Options :

1. #¥ Research and developrnent | #te 0d e

2. ® selling technology | gl @ ekl

3. ¥ Helping technology companies | e Haiaal &l @gaar &er
4. ¢ Dissemination of technology | WeifidT &1 ww

Question Number : 80 Question Id : 3354727310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

What is the ggective of holding Gram Rozgar Diwas in Panchavats under MGNREGS? | A= & Sfa7id w=maat &
ST T ST el TR TR T3 T a7 T J20 BiaT 27

Options :

1. ® Educating Village people to take up self employment | T TSI &= & 600 T & @0 @1 §iaa @
2. ¥ Generating employment for farmers | Toramt & &0 TR T weaT

3. ® Improving the employment opportunities in villages | et & TR & /el # GoR

4. ¥ Registering job demand and grievance redressal | =@t & 7T 2 T8amag THawr = @ T

Computer Knowledge
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Section Id : 335472227

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472227
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
How many binary numbers are created with 8 bits? | 8 Tde & Toradt smg=tt dgamg Fiia & A7 qwdt 27

Options :
1. ¥ g4
% 12o8

4 ¢ 258

L

Question Number : 82 Question Id : 3354727312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
____________ is not a computer language. | ____________ % ST AT 51 8l

Options :
1. ¥ C++
. ¥ LOTUS

3. ¥ BASIC

e Y8

[

l-h~

R JAVA

Question Number : 83 Question Id : 3354727313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
____________ is an exarnple of a math function in M3 Excel 2007, | TAUE UFdd 2007 #, BT thepar

3. ¥ COUNT
4 ¥ SQRT

Question Number : 84 Question Id : 3354727314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Anti-virus is installed in a cornputer to: | FHYILT H UE R SHd 1ol SHT [T SI1aT &

Ontions :




12th Dec17 Shift 2

1. ¢ Safeguard the computer from virus | FHET ®1 TR d LT @ & o]
2 % Safeguard the computer from fire | THYILT P AT & LT 7@ & w0

# Improve the memory size | AR 6T g5 & @7

4. % Install other programs | 32 WHTH 6216 H & o]

W

Question Number : 85 Question Id : 3354727315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

____________ programs carn be used to accomplish functions indirectly that an unauthorized user could not
accomplish dlrectl? f T JUINT ST &0 & I HTAT b1 YT HA o ol T <A1 Gepd 1 & 11 Ue e

TRITeaT WA & & Ut 81 A wwdT ol
Options :

1. ¥ Zombie | FiqsT

2. % Worm | 9TH

3. ¥ Trojan Horses | i 519
4. % Logic Bomb | @Nid dHe

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 86 Question Id : 3354727316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the Recycle bin? | feamgiee o= a7 37

Options :

1. ¥ A software for deleting files | WEad [2ate ® & ol TR

2. ® A default folder for temp files | THT B5aT & o7 Uw 2HTAT Bidat

3. ® 4 default folder for downloads | SEAAST & ol UF 2HTAC Bidst

4 ¥ A temnporary storage for deleted files | fEfoe &t 7 wgem & Toiw Uwr erqas @i

Question Number : 87 Question Id : 3354727317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following term is related with legends in MS Excel? | T00H UFda §, T # & 219 971 g daidar
(FAZE) & Hellerd 27

Options :
1. ® Clipart | fFemame

2 % wWood art | g e
3. ¥ Operator | 3T
4. ¥ Chart | I

Question Number : 88 Question Id : 3354727318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The sections within a document that appear in the top and the bOttoMm MArgins are known as: | TF ZTgghe # ar
Hepa AT 2T S dieh wrio- oY fowad & =T ;

Options :
1. % Scroll bars | TR aX

2. ¥ Header and Footer | 32 Ud Bet
3. ® Quick Access Toolbar and Status bar | TF® THad TAeR Ud geed a1
4 % Ruler and Taskbar | T & THEHART
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Question Number : 89 Question Id : 3354727319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet explorer isajan ________ .| ST U AR U ________ 2l

Options :

1. ¥ company | ®UT

2. ® internet | getAT

3. ¥ Search Engine | 9 goid
4. ¥ Web browser | e T

Question Number : 90 Question Id : 3354727320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following is an output device? | 540 & FaT UF AT 1Ead 27

Options :

1. ® MIC | qHsmSH!

2. ® Mouse | AI3F

¢ Speaker | FHtwT
4. ® Keyboard | #laig

w

Question Number : 91 Question Id : 3354727321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which button do you click to add up a series of numbers in MS Excel 20077 | TOUH UFEA 2007 ¥, &7T0 G@41eit @i
Hifes Az o oy Tope arey o Tarorar apear

Options :

1. ¥ The AutoSum button | 3T EGH g

2 % The Insert button | $G¢ &ed

# The quick total button | T Tlea de
4 % The total button | T e

L

Question Number : 92 Question Id : 3354727322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which of the following command is NOT available in Page Layout menu in MS Word 20077 | THTH @2 2007 #,
U warTae B 8 T ® & 219 9t 01 Iusee TRl 1d 1 87

Options :

1. ¥ Zoom | 9/

2. ¥ Page Background | U d@UES
3. % Page Setup | U9 @zam

4. ¥ paragraph [ TRTUTE

Question Number : 93 Question Id : 3354727323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

An example for magnetic storage device is: | BHTCE et (SaT5d FT UF JEE0 &
Options :

1. ¥ OMR | S[THST
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2. ¥ Hard Disk | g€ 29&
3. ¥ CD-ROM disc | di2r-tm fEqw
4. ¥ Memory strip | AAlT &2

Question Number : 94 Question Id : 3354727324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The three main components of a cornputer are: | Uw FHYZET & d - §@T @39 AT 5 &

Options :

1. ® CPU, Memory, Tape | iy, #FI, 20

2. ¥ Tape, Memory, Floppy disk | 34, RN, Tl iZq@
3. ® 1JO, Printer, Mouse | amg)af, ez, m=w

4. ¥ CPU, 1]O, Mermory | @ity smé/sil, #AT

Question Number : 95 Question Id : 3354727325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In which tab is the symbol group available in MS Excel 20077 | THUH UFda 2007 H, aa qu & 3o & Iua<er giar

Options :
1. ¥ Insert -»> Links

2. % [nsert -> Tables
3. ¢ Insert -> Text

4 # Insert -> [llustrations

Question Number : 96 Question Id : 3354727326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
VGA stands for: [ ST FT Q0 &7 &

Options :

1. ¢ Video Graphics Array | @it Tithgrd U

2. ® vyisual Graphics Adapter | e withee TSTET
3. ¥ Virtual Graphics Access | TeIe Tt Uger

4. ® Volatile Graphics Adapter | FIAETE MhEd TSET

Question Number : 97 Question Id : 3354727327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Which of the following is NOT an ermail systern? | 790 # & %9 a7 0% S0 [4aed 51 87

Options :
1. ¢ wwrw google.com

® www hotmail com

W

® yww outlook.com

-

# www. yahoornail.com

Question Number : 98 Question Id : 3354727328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which of the following has the highest storage? | FRimEdT # & [aH Ted 77T G244 05T 9T 9947 57
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Options :

1. ® Megabyte | AlETET
# Gigabyte | e
. ¥ Terabyte | WEEe

# Kilobyte | Tohdtarge

n

L

-

Question Number : 99 Question Id : 3354727329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

MS Excel is used for: | UHUH UFds ®1 0T 90 & o fma <mar 2
Options :

1. ® Documents | STHFgHTE

2. % Presentation | FHTA®HT

3. ¥ Spreadsheets | qusdica

4. % Sending message | dET AET

Question Number : 100 Question Id : 3354727330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following shortcut keys is used to underline the selected text? | FuATTET & & #19 &t adwe H1,
Aeigre T T SHe 1 SASTATSH Bl o 161 SEA AT B ATd | 57

Options :

1. ® Ctrl + Shift + U
2. ® Ctrl + Shift + D
3.¥Crl+U

4 % Ctrl +D




